Quiz 4 — Chapters 5 + 6: Futures and Imperfects Nomen: 5 6?

Conjugate the following verbs in the tense, voice, and mood indicated (24 pts. total)

amo, amare — FUTURE active indicative sum, esse — FUTURE indicative
sing. plural sing. plural
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debed, debére — IMPERFECT active indicative ossum, posse — IMPERFECT indicative
sing. plural sing. plural

" | debzbam | debabamus " poteram | prheramus

| goebac | debebat | |¥'| prterds | peterati
3 hebzbak | debgbant Y peterad potesant

VYocab: (Identify the form = P#TMV, give the full dictionary entry =4 principal parts + meaning) (17 pts)
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Translate the following sentence and FULLY IDENTIFY the underlined word (use the back if necessary)

Nec vitia Vestra nec remedla tolerare poteratls (10 pts. total)
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